ome® 8D BemoEe - § @omd
@aedy Bdw

®0SendE @¢dm Dwd w@izns/gdtitmedE ¢1d ulluemae
2016/2017

(e¢dm ewe®dns cpéwom) _
ECN 2226 - 38 @21 0080 o882 8¢100
DES B eem8 (02)
D0 ® yaimd wdmdO (04) B8xo vuwsis

1. 2 3yen 008z sbhm CODE wdD 2dlm ¢ofen LaOdm w JE8m Daews’
emod @m0 g W8, PO edg DO BJve vbAm oWy o8
WEBIB, : o

(cne 128)

. “@:08Dme OB vbBm 0bc Bdwmd ydodBe 8c» yBuxBsd Dik

o dB ocn ewlorn 60.” 6O gz HiMTRCH DBewsim.

(cne 138)

2. q. elouddm Gned w@imms &owds C(Y) = agt+ b)Y baecs? & gu». 0808 C
oBewidz Bwe® ¢FOm god Y 8827 tHhlim gow® ol.

i. o0® o®mimend ‘A wrim BB WD O 8@ od. B EE WsTH.

(Cmem 048)
ii. wBewlys 2008 (C) meowu® (Y) gwe v anpmesst gug eoned. 0w

B8R psied Sam8m®e 0830 On Adenw @D, v mosIH.

(Cme 048)
ili. MPC+MPS =1 osiornd 58006 edn® u1m88 mdsim.

(cmem 058)

g, Y = (at [)*1/(1-mpc) o e@®miemn gdst vun eFomncud addn HOud®
BOO® pemame HOHTH.



SOrwenln Bwe® | gusidm peoeddmwn o®dn BOEY®
vBewdsn
59 &w@d
200 0.5 500
300 0.5 300
400 0.4 500
500 0.5 500
500 0.6 600
(e 068)
&1. oD eCame §11057 9A0 B0 ww uvlewdvm §nws? Dysfesim mosim.
B gew® o.8Bwem sBewdts Bwue® 6.88vm
300 240
500 400

(cmem 068)

. D ©5wsT DO b Om®E 8D edSmer Bewdeme »d48. (C, I, G, TR

O1.3. D8 O ¢FOB).

C=300 MPC = 0.7 t=02
G =400 1=200 TR=50
g.00n gbdnmed slewidm §ne Dyfusis mdsis.
(cnea 02)
.00 En Hfm gow® SO0 ROEL?
(e 06)
1.pewedds gamed DOm® p@=fe?
(cmem 03)
&1.00nED Peu® PO0P wded vBewdds ww A8 BE® ©O0® n®ue?
(cmem 03)

9.0t B8xY qf) 209w® 8T ¥ GBuE 8Bwm 100002 eagf ©3oz0® Buwe®z
890 Boemw mer B BozIz. 50 8OnED HhBm 80w v&amG WOBID.

(e 06)
3.000 Bue® yBoc/ c0mede Gioadunz On gt ¢FOsTs.

(cmeq 05)



T e

4. von odnden @5nmEBn eb8nment Aewedumne 8. (C, I, G, T, TR ew NX

C1.9Bwx DEsT Om ¢FOB.)
C=200+0.8Y NX =25 T=10+0.1Y
G =600 I1=350 TR =160

g. o2nEm thdm goud® 2000 neamw ®OBID.

(cnes 06)
g, 0t B8sY 5Bl 8Bum 50857 s wue® eug 4880 Bowmw wEy W8
Bosiz. 0 6@nln HBm 400® o&mme DB,

(Cnem 04)
9. BT A® Bdmen 8n e D87 gwd® d¢ gmuone (income tax rate) 10%
Bt 018 HOOO Boeww mo» 2. 3D enED KD Lw® Vxie?

(cmeg 06)
. 20 Q¢ enne wder pamned Ddsn® PDuie?

(=@ 03)
P. e0® Bue® Sue® D888 oy A¢ emowme odnd 8 o1cBICED 0fdsT
Sbewd eudia Bos /aBBxnws (budget deficit / surplus) messs mdzis.
| (cmes 02)
3. s BBxT Dabm gromeds Bwg® mn BP0 Bowmww mom 8. hiim gcw®
On 280 yRvrBed ACH® RO obe? Guwdvnw gydsl ewmSewsy v dE
DO,

(cmea 04)
. Bun o@mda O »EBn PISmwed Bewlvme mdB. (C, 1, G, T 618 8ocsst
S.®8ux DES @ ¢D8.)
C=200+0.7Y ' T =100
t=0.1 I="700-50i
G =500 L=04Y-20i
M/P =900
g. IS e LM 21088 =o» ednies dpusis oduis.
(cmes 08)
. 2PnEn Hlim ee® ow e gRLInG ROE?
(cme 05)

g1 Ot B8xY B¢ epmuoms 0.2 ¢80 ow §e woa® GBued 88um 100 Bzt &8
BOLO Aomw meg (B Bosin. 20 =nln e gnvme vw Hlm §ewd
RO®=fe?

(e 07)
. ‘MPC’ ow " IS Owd Bceis gumede mwgE mosis.

(=@ 05)



6. 7. 3o HIV® 8-0em nder vy HIn BRBW ameen BB wder! ewg
8D W HBD EO® OB et Ydemum ACo® p@wie? Gio wdwsa
16883 o038 mosim.

(cme 15)

. PGP OEH®B yien O 80 wvw BADw6 apyne 5@s D» 8O swun acws’?
yBoRA Bcenws? Bifim goud On DL s emetde? Ko edws’ Fireds?
o188 mSzis.

(1) gwwwm Bue® O af) RO
(i) e gmtoned vve WS

(cem 10)

7. §. “cdO®me 1@ DOR ow ® ® FErdv yu-dwdl.” D2 dme Dxfesfe?
ded BERT v @B mirin.

(cmes 08)
. ceme BEAe emsiBuwon (Keynesian) esw e®wibxs (Classical) eSames?
ans eOHEMm® OB,

(c=em 09)
a1 ogdo (@ e § Commel cfLdmed yOiIMBbLET B Gwd AR ey

10128 mBIB.
(cnew 08)

8. »vwm w¢wst d57® Sumanmn ecwsd (02) & 88ae¢ ed wdws? SBuzinm.

g @blm biome BEA¢ owWBBwizm (Keynesian) ow o®wbn (Classical)
cSamwesy

. emd8ed® yAbumae (Crowding out effect ) xo BB yhodBw

&1 8¢C wgun 08D eEE® ww ¢DBEm wawe (Liquidity Trap)

. 0 EAcF0d yhuS (Neo Liberal Policies) esw § @omo 88200

(n® w2 Ccaa 12.5 58z

FdkokkkkokkkkkkE



